
minutes

feet

input value

rate of change

output valueHeight of the plane

Amount of time the plane 

ascends

# of feet the plane climbs 

each minute
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feet

minute



Function family = Linear

The graph is an increasing, continuous line.

H(t) = 1800t



Slope = 1800/1.  The plane climbs 1800 feet every minute.

The x- and y-intercepts are both 0. 

The intercept is where the line crosses the x- or y- axes. 

x-intercept = 0 minutes, y-intercept = 0 feet

The plane is on the ground waiting to takeoff.

(0, 0)

(1, 1800)

(5, 9000)

(3, 5400)



h(3) = 1800(3)

h(3) = 5400

5400 ft

-7200 ft9180 ft

6750 ft

h(3.75) = 1800(3.75)

h(5.1) = 1800(5.1) h(-4) = 1800(-4)

Does this make 

sense?  Can you 

have -4 minutes?



We know the plane reaches 7200 feet and h(t) is 

the height of the plane.

5400 = 1800t

5400

1800
=
1800𝑡

1800

3 = t

9000 = 1800t

9000

1800
=
1800𝑡

1800

5 = t

The plane will be at 9000 feet 

5 minutes after takeoff.



3150 = 1800t

3150

1800
=
1800𝑡

1800

1.75 = t

4500 = 1800t

4500

1800
=
1800𝑡

1800

2.5 = t



The point-of-intersection. The 

place where the graphs of both 

functions meet. It is the 

solution.

time height

4. Explain the connection between 

the form of the function h(t) = 1800t 

and the equation y = 1800x in terms 

of the independent and dependent 

quantities.  

y = 1800x

x is independent

y is dependent

h(t) = 1800t

t is independent

h(t) is dependent

Page 82You can also use the graph to determine the number of minutes the 

plane is flying at a given height. Let y = given height of the plane and 

graph the horizontal line. The point where the horizontal line intersects 

the graph of the function is the solution.



Algebraic method or equations = exact answer

Graphing method = an estimate or an exact answer


